[ .4 Sra,ﬁé‘e,@%s of L inear 5%%ﬁi§m§

. % A Sustem of ef\m&;‘@%g T geﬁ of  dwe o

nwaore e%aaﬁiws M Two  or  wmore Varials les

A selidion is e et of all ponds which sabic
oA qumi,iwﬁ o thee sas%em,

Wit i‘i‘gm 5%5'?%%. of ?%&ggay ﬁ%&dé&ﬂﬁ Hiere are
h}(«,&ﬁg three f@ﬁ%l?i%iéﬁ Lor the solution seti

. Ne soludisn.
A Exa\d“i? ene  Sohition
o 3, Iw-i:fmﬁa}g oo 4 Solutions,
we are %@;\x +o mj%i% stick  to Sgééwé of linear
I g‘? iimi’”

equakions i Two vatiablec e, X,y et Sustem
e,%w:)@'wms in three  variable e4. Xy awd Z
o8 Alsove

' b etion % B Scenar’
C’VYWR%L& = Iw&y&:&é& &Am&% Sbiﬁi'iwﬁ

No solvkiom oo Solwkion

7 Ne TV
/// . — {%x Z
® //

gor s&%\ o sferisxﬁ»'wg,
Lings

Lingd



ﬁﬁmiimﬁ L unkupwns £¥M§£§aEQ$§3

Salve {m*ﬁ“é =4

L. Solve one of Y téu.éiib%&g X - ﬁév = 3

Sor one of +he variables in terms
of W ot L. X-2y=3 = X= 243

7. Subchihie Yuis eqpression 2. 193
i the other f:%mi\;iw te ?.%s'g 2.?{ N 35“ _

ONE zﬁu&;m T one umKuowd .

'Z.{Z%-E—?s\} + %§ =4
3 Solye tHhais linear ef}n&iw 2 Myl + gf‘;’f = U
Sfor Yhe umknoww — &

L. Substitute  +his solution
into the aqew:tim in shep | or 1 x= g_{‘l—-} + 3
who one of Yo o'r';%@\ﬁ aéwi;mt}

X= ZH 42
To selve f,r Y other gmmga 7 t 7
.o
)< = “}J
5. Chek the  Soludion Ea% <
y - 3 . ’ R E’;&w
mbs%z%@m%, for ¥ Ty 2(8) + | ?\} -7

%@‘@L @ﬂ?j«%&g&j E%a@&imgﬁ 17 ) iwi 31
LS ya ﬁ?}w_ o E



e

Lor .S'a?vi;&} gﬁsémg
Gt

. Precedusre E,xmp le
v, LE mzce.ssaﬁg,g wm@%’%fa?g one Solve He sgé.},@;m ?X*;‘?g_%"i {4
o iaa‘@x e%ﬁ&i‘ab‘%ﬁ iﬂé’ A WenZers X 2’5-: 3 {-2‘)
nowrloor  Hud will wake Wy i o "
098?@;&%@5 &’? eNng op e | f%ﬁi §P§é' f{éu tou C?‘Q} i&lg_ ~L.
Varciakles iolew%‘m}} exgef+ perhaps 7% - gg = Y
Sig«%&g‘ 4 X ““ité.:"é

2. Add o subtracT Y f@w’iﬁﬁﬁ 2. Ox ”qg = ~Z
to M one of the waridales (e\évu.&m:‘c-e& }(3

2. Solye for the varidhlp ix %, 4= -tz
Ying 2qualion ~ 1
® g resulti g equation.

4 Subshihide Yo solition iwlo one i zx- £(F
of e oré%&fw\j e%a@ieag and solve 2x —10 g
Sor Hu other veriale.

£ Check W solukiong 1% S0 (¥ wﬁ”{g}: %f:w g
hoth Gr%ngwg %W&Q&w& j

o q



éxwgé | EX%MEw&im L?

PR M
. ‘1?&%3? = Y 1y
i EX & é%:: 19 ()
/}f‘%\&i{gglé @W, {0y 34?, L Mi "?a .«Qﬁﬂ;e K?;,\;I
~— FX -"{@3_ =~ &
FX '%‘505 =1&
t .
—— (pwﬂ&g i:;&@.ﬁ}

OX %@%fx 1O

. Laflea. =10 W’Mé}& g‘_j
This s«gi%&m L solved v :

o how orp no solibibns

never o1 impessible

() muld, eqme (1) by ~2:

= = Tue ebuda‘am are

deponderit e, P

Fweo e@u&i‘m 248
ﬁ,aM% dhy same Line

¢ —, E%@gimé%@% Mmany sl e@éﬁ@
§




A wurse has  dwe  zolibions  Hud  comdain Ai Eferont

® concentrations oFf a  certain wedicakisn . Oue is
w128 % conceddribisn  amd  Mu ol i 4 3%
concendration, How mamg cubsic condimeters of eack
Showld sl wil o sbtaln 20 cubic  cemlimeterc
of . Z % f:méeﬂlﬁ\iiml‘?

Solwbiog Lok X= pmowid 05 12.5%, 5@"?&;:%&(&‘:'%}

3 i

g‘:—”_ tH ) S"‘@z

KW@Q: Coneanid 5M:ﬂ‘5§§- — glams mmwg.l{

. volume Ce. w;}‘;-:grmg
1t doex mt

VA

J8 x + ‘@55 = !Qg{lﬂ (2)

X%%mw

00« egn 2y = 128X -{»536( i Te

Solve Lg0n (Y fFao ?é(i %::MX-%Z,Q
Plug. e 2 o (2 1EX + S(-x+tw)= 16D

= NSx + 100 =1LD = 1E5x = L0

= ZTx =0 = x=lE -8 sox=g

-
il



%v&%e};

L{%sﬁag
Soluti v
1n
M@fwa,
Salubion s

-t e

l/ﬂNé I T
.3

\ .
7 \ . .9
.. -a..,iizt..;t-u.aﬁ.-l!e
4 /I\‘

o

fijg §&§s&£§a@

V g e ST
T P




Exwzé H <Pm%3m gg’}

() Sx 4yt Hzxly Sxryt oz =1y ()
@?::- 2. P "”Tfﬁ> ,{9? -2 % = O {Z’}
7y wz =10 ‘“}&-2"'%‘5}0 (3)

Mndt. eqgm (3) ioz;, 2., Yo 2 Chnh . (z_‘)éiliﬁ\):

{ﬁc&wl% = O

iHu t232 =20
-);_/f@w | i
2oy =20 Dyl

. i?\tng "W\i{) g i3§‘.

1V + 2= 10 =]z-3)




CF@'@%EW @@}
At o lerge  school ;%?; 43S tickels were sold,
A $%Mwi tickel cost $§35@ amd  am adult Fre ket

cost  $&00.  TE  He  tickel Sales totalled )gﬁ,ﬁ?,sfa}
Thow mmg, of each dype oL dickel was U7



